CS 6665 Database Systems Administration
Assignment #3 (5 points)
Beverage (and Country/Color) for thought
This is a tricky problem designed to help you think out of the box on the use of database programming for solving problems.

You are given a puzzle: There are 3 houses in one row in 3 different colors (Red, Blue, Yellow) and the owner of each house is of a different nationality (British, Danish, Norwegian). Every person drinks a (different) particular beverage (Milk, Tea, Water). We also know the following constraints:

1.   The British person lives in the red house.

2.   The person who lives in the yellow house drinks water.
3.   The person who lives in the right-most house does not drink tea.
4.   The Norwegian's house is not the middle one.
5.   The Danish person does not drink milk.
6.   The yellow house is located to the left of the blue house.
7.   Those who drink tea and milk do not live adjacent to each other.
From this information, we want to figure out who-lives-in-which-house respectively i.e. list them based on their positions (Left, Middle, Right). Explain how you will solve this puzzle by creating database tables and writing a query.
· Show the schema of the tables you will use. Hint: Think about the solution space of the problem and how to get to that space using multiple small simple tables.
· Your SQL query. Hint: Recall one can do cross-products in SQL.
· The solution you get for the puzzle when you use an SQL interpreter and RDBMS to solve this puzzle  (e.g. you can use Oracle or MySQL or another database of your choice). Copy-paste the output you get.

Note:
The SQL query may be quite long so you may find it useful to create the query in a text file and use the source command (or equivalent) in your SQL interpreter to read in and execute the query.
Email your assignment to barbara.hecker@csueastbay.edu with the subject line of [your last name] + “Assign3” 
